OMRON

®FZ-LTA

BEBHLE FZA ANOATAO—T

IR EREASE

COEVR ARAESBEV EFOLLEZEL T RILIHIBEITEVET,
CERICEL TR RDRAEEHFIESL,
- BROFHEF THFFIRS BRRLEEL,
- COBMBHAEE LCBRAICRY, M TBBOIZ ELCTHERR,
- COBRBHAZRVOTHBETEBLIANREL T,

a’
0

A=

R e (AR

© OMRON Corporation 2009 All Rights Reserved.

| e LOCEE
@ TEXTROEK%

ELWERWVELRIThIE, CORBRRDEDIC, &S -
FREENEEEE - A—DBEICIFEERPIETIC
ELBNDHNET, T/ RAREICEALYHIEEED
=5 BN H)ET,

ELOBRRWELETNE, COBBRO:HIC, FFCE
1% - FREDEETEA /. HBVIHWIBEEZ
BRI BHIET,

& ICARSRIERATEEE A,

LREEMRR T DEN TEERMELIIREAICAFEIRE TS
AEREADRHEREEL TARBEERALEV TSN, ®

REFTDES |

LA BIEARRE, FRENE, X723 MERE B P NI B A7,
PIFDZEAFSTIZEN,
1LAREG AN DWW TRO LI AT SIZERE LR TSN
- JEI PRI A2 RS D R %2 B 35 A
U A SR S i (RS 88 9 235 7T)
XS 5335~ 85% RHODHi [ %78 2 5 455 it
SEEVER . ATRRYEH 253 % 35 Pt
-BEIR K55y $R b B YT
RBY AR E LN B 5
SROTMELE (=N, T2 VE I E) B 2B
B HE A 7= B R e L D IE
AR RO TRIE D BB 55
-l R R RN DS PT

2.0
HUHZ 3BT A VO HHIRE TN AT > TLEEN,
3. Z0Ath

ZOREE I RLID BRE, SOELAN T2,

N RE RO IS e IEL, B E Y 572 BT Y
FESERE - P TRz,

JRIES DL FEEFEIYI LU TR TZa0,

WiERE 4%

BE FZ-LTA100 FZ-LTA200
(1chg# 1 7) (2ch# 1 7)

HISHAS FZ-S. FZ-SC. FZ-S2M. FZ-SC2M.

FZ-SP. FZ-SPC. FZ-SF. FZ-SFC

Fz-vS (2m/5m) . FZ-VSL (2m/5m) .

MIEHAZT=TV 27 ysB (2m/5m) * 1

ERALDEE

B EARBE, BRENE, £/ RE B RE N\ D SB[ 720,
LIFDOZEEFSTIEE N,

1. PEGEAAFIZDONT
ST AHATIBTEHI G (FZI)—ZHIEH AT) E IO E0,
=T WA T AR, BTV —TARRDOE F AT > TR,

2. Wz oNnT

SV = RUEY, T RN ST LN TR,

BB IUSIE RIS T L= L AR a8 T, Thhanic s

EHTLZ,

WAR

BN FZ3)— 2 DH A7 2156 L€ H O W A 41§ 5 7= D AL
ARV MNI—5 T,

WARAORE

- B vy B— AR IR B

ARATD Yy A=A —=FNNEH (1/5000s A F) 1275 & EH BB

B EAELE T, Vv f— A —FEHEIZ LB AT DI R DT

DEENLET,

(E1) AHEREIZ. FZ3 2)—XD [ HAFH{R A JJHDR+ | i FIREI 213 8)
fELEH A,

(E2) KB FZ3-(H)9C LIS —X DY T = 7/3—Ya>3.10 LU
DEGEIZEMNTT .

- 25 VIV OB (FZ-1.TA200 DA)
FZ-1.TA200 (2 DDA F v 3L 45 2D DN ()2 27 T & N —

W22 L) 22 T IURIE T RECd . 72 HE B I a A 3N F 9 %720,

2DODF v AN EFRIFRHI ST 3254 K08, 1 DDF v AL O A HF

BIGA DS BB IS B R A IR L E 4, (7:3)

(7E3) ABEREIT. FZ3-(H)9 L EN—Z DI T 2 73—2523.10 LI
DOEAITERTY,

B ER

EXHREE TS (AR EE) L A FEUHH G L AT ERH Y (M2X5 4K) |
SHEUHAY (M3X4 44K)

Wi
EE/F FZ-LTA100 FZ-LTA200
18WLLF (DC12V 1.5ALLTF)
HEET (H*x5, 2bhAKT> bA-FED)
—— 10~150HzE #R180.35mm (HI& & & A50m/s?)
3AMEE8410ME
i ErEE 150m/s? 65ME&3E
. EERF - 0~+50C fR1FHEF 1 -25~+60C
RIERE (£ L. kit - BEOELZ &)
. B)(ERS - {R77RF 1 £35~85%RH
REERE (££L. BELEVZE)
BAEZER BEMAZIDENZ &
REBIEE IEC60259 IP20
R Z hOA3> fO—F 4 —2Z :PC/ABS
HATEBEHFT A7 2L iR
KEDH
o | T=TIEED #180g
BE
TR IREE #9150g

FISFZ3 (FZ3-H)oL > U —X)
YNNI IN=T3> | (FZ3-(H)3ILI/(H)7CY ) — X)

FZ3 Ver.3.10L1 L
FZ3 Ver.2.00L1 L * 2

ANERE DC+12V £10% (5 X T & V) E#ZHE)

HAER &K 300mA

BEGEE S A e YR 1ch 2ch
BREAZRSENUAHE 4FR#E X 1ch (FR3L) 4% Az x2ch (¥R3L)
SRy SHERE H') ON/OFFYIER] (HfrRF @ OFF)
FREARUAONBERE | HXTDY vy 2 —AE— REXEBRTEICEDE TEEHE

*1 F—JIR10m LEDHATr—TIVIERTEE G Ao 2720 AATT—
TIWVEEIZYNMFZ-VS)EFERLLGEE RS HATTr—T IV ERASAK
HAEDE TERAIEETT, (RA15M ETERMHETT,)

%2 FZ3-(H)9 [ 13)—XVer.3.00 Cld ARG RILER TEEE A, Ver.3.101L
f&TFZ-LTA100,.FZ-LTA200&L CERZE R BEIC BV E T, £/ FZ3-(H)3
OC/H)700Y—X Ver.2.00~Ver.2.12(2009/10 RTE&z$Ver.)
TR AR A TUS T MNIATFZ-SLC100EL CEREESNE T, 2O
fD AZ2—ICRRSNABLED T Oy Y DR B DR E N A— 13, B
ERBRNET, SUTT Oy 7 EDBRICDOWTIE, BRSO BIRSFAE%
SBUL TN,

BANORIIA—FCHASERFITRI5E

Fz-S/SC
FZ-SP/SPC Fz-S/SC
FZ-SF/SFC FZ-S2M/SC2M
FZ-SP/SPC
FZ-SF/SFC

HRBAERTRD v I
(FZ-LTA2000D #)

HREAERTER Fv> 210

OHAFZEHF SN TNBEE (FV4K) ZED L TLEEN,
OfHEDXY (M2X5 44) T HAFEHE T4 BIZHUHTTLEEN,
BOfHEDxY (M3X4 4K) T, ZbaRavia—J | HifF 4 B4E0 HF T
LFFEN,
OAAFTOYMIZANTART L NT—F D —T I AL TLU TN,

AV LomERD T TLZEW F 2 HBE DAY DISHI B LTSN,
Fd LS

M2:0.15N'm

M3:1.2N'm

W ~TE (B4 mm)
;mmrm@;#ﬂ_;gi} (E
el — [
g L ]
. (185) 4-M3 % & 3 max
82 /
,/
E g ) 00
R LW = B | w s
774 b7 19 17.5
48 26

4-M3 &R &3 max | 1/4-20 UNC & &5 max

|
=led P

¢4 6t (HAEWTETE : 0.05mm*/ 4 A4E © $0.38)

FFZ-S/SC BV fif 1B Dl

O RV
M3:1.2N-m
1/4"-20UNC:2.6N

R — W — W—

(115) h*Z FZ-S/SC 28

L > Xy

50.5

225

O ©
7174 ka7 L | (10)
b4 6% (CHAKETE : 0.06mm?/iER A2 © $0.38)

© ©
Q ©

\ 4-M3 E &3 max \1/4-20UNC ZFE &5 max

WS T

CERICBRUTOD T RESEIR

OREEERTIEN TEZNE/ISEENICAFERE T 3HRIC. AR S%EFER
LEWTLESW, RR&EICIR. Yt 3 h207ICB#L T\ 3R et 44 FH
{F2&WY,

QT ERERIERINZIGE YU EEBEYE L TIRROIAMBRELECLITHE
BN I EEBIC B MREICHU SRR EF S/ EV AR T—HEN H-THE
BRAER/IMNCTIRLABRAEEDEEMFEH LTI,

ABNORE. BENSLZNELEHIV BTN EW SRS
F/l3H207 BIRFEAE S ISR HOEVWEERRE TOEA

b) R F A HI R fifs . IR AN 5 . Skl M 22 - BE T A . R FRASARL L SR 25 AR
REKE HIUTEHERRERIEROARH D%

C)NE B EEICERRD KR UHBT R T Lt - 46 B

d)H R K. BERDEIEY X T LXR24RE R E B S 2T LEED
SVEBMS LB LR

e)ZNfth, £5C a) ~ d) ICETE SELREMPLEEINIAG

* FERIGEASAROERMED—EBTT YHONIN BEHEAT T -2 —NERHR
DHEOYT X =21 TIVCRBH ORI FEEEORRTE LGFRATIERLEAL,

ALOKRKEAL 420704 --Y ez apvn=—

O HRHVEDhESE

7525:0120-919-066

HEEE-PHSAE CRIFAV TR AD T, ZDBAR TREFES AP,
z% 055-982-5015 (REERDDDUET)

(AT BRIVE HHERER)

W= %0575:8:00~21:00

W= % H:365H

W L5327 VRSADOFAY 2T LR OFRATERO:
B 055'977'6389 (BEERDDDVUET)
(BZDBRVEHERERE)

WE#p5:9:00~12:00,713:00~17:30 (£-H- KA IAKZE)
W= ¥ B+ -3-0%AFH T FRFHREBERRS

OFAXICE B BRVEDEIF T FIELZE,
HRETYR—bt s BERIFEHXE FAX 055-982-5051

@ZDEDHRVEHESE
MHR- AR ST Y TIL AR B E B O HEE %,
F BB LS LAOCEEBICTHRHZS,

B@ 2009%10A




OMRON
wodel FZ-LTA

STROBE CONTROLLER FOR FZ Series

INSTRUCTION SHEET

Thank you for selecting OMRON product. This sheet pri-
marily describes precautions required in installing and
operating the product.

Before operating the product, read the sheet thoroughly to
acquire sufficient knowledge of the product. For your con-
venience, keep the sheet at your disposal.

TRACEABILITY INFORMATION:
Representative in EU:

Omron Europe B.V.

Wegalaan 67-69

2132 JD Hoofddorp,

The Netherlands

Manufacturer:
Omron Corporation,
Shiokoji Horikawa, Shimogyo-ku,
Kyoto 600-8530 JAPAN
Ayabe Factory
3-2 Narutani, Nakayama-cho,
Ayabe-shi, Kyoto 623-0105 JAPAN

The following notice applies only to products that carry the CE mark:
Notice:

This is a class A product. In residential areas it may cause radio
interference, in which case the user may be required to take adequate
measures to reduce interference.

© OMRON Corporation 2009 All Rights Reserved.

PRECAUTIONS ON SAFETY
@ Meanings of Signal Words

Indicates a potentially hazardous situation which, if
not avoided, will result in minor or moderate injury, or
may result in serious injury or death. Additionally
there may be significant property damage.

A WARNING

Indicates a potentially hazardous situation which, if
not avoided, may result in minor or moderate injury
or in property damage.

/\ CAUTION

@ Alert statements

/\ WARNING

To ensure safety, do not use this product for direct or
indirect detection of data from human body.

Do not use this product as a sensing device for the
protection of the human body.

| PRECAUTIONS FOR SAFE USE |

Please observe the following precautions to prevent failure to operate,
malfunctions, or undesirable effects on product performance.
1.Installation Location
Do not install the product in locations subjected to the following conditions:
-Ambient temperature outside the rating
-Rapid temperature fluctuations (causing condensation)
-Relative humidity outside the range of 35 to 85%
-Presence of corrosive or flammable gases
-Presence of dust, salt, or iron particles
-Direct vibration or shock
-Reflection of intense light (such as other laser beams or electric
arc-weldingmachines)
-Direct sunlight or near heaters
-Water, oil, or chemical fumes or spray
-Strong magnetic or electric field

2.0ther Precautions

-Do not attempt to disassemble, repair, or modify the Strobe Controller.

-If you notice any abnormality in the Strobe Controller, stop using it
immediately, turn OFF the power supply, and contact your OMRON sales
representative.

-When disposing of the Strobe Controller, dispose of it as industrial waste.

| PRECAUTIONS FOR CORRECT USE |

Observe the following precautions to prevent the product from
malfunctioning, becoming inoperable, or the performance and/or the device
from being adversely affected:

1. Camera

-Use a Camera designed specifically for FZ Series.

-Be sure to turn off the power before connecting or disconnecting the cable.
2. Cleaning

-Do not use thinners, benzene, acetone, kerosene to clean the Product.

-Wipe off stubborn stains carefully with a piece of soft cloth that has been

wetted with a trace quantity of alcohol.

B Application

This product is an illumination using with strobe controller of FZ Series.

B Feature

-Automatic [llumination Control for High-Speed Shutter

The brightness is automatically increased, when Shutter Camera is used at

high-shutter speed (more than 1/5,000 sec). It is possible to alleviate the

decrement of brightness because the period of exposure is shorten.

Note.1) This function can not be used when using HDR function of FZ3
Series.

Note.2) This function can be used since Version 3.10 of FZ3-900 Series.

[llumination Channel Mode (Only FZ-LTA200)

In FZ-LTA200, it is possible to use 2 Illuminations, and they is not necessary

to be same, ex. Bar-type and Ring-type. And it is to select the active channel

in the measurement item, because the delivered power can be used
effectively. By using this function, it is possible to light each illuminations
more brightly than coincidence lighting.

Note.3) This function can not be used when using HDR function of FZ3
Series. In the earlier Version of FZ Series, the 2 illuminations are
used at every time, and the brightness is weaker, even if only one
illumination is used in the measurement flow.

B Accessories
Instruction sheet (this manual), Attachment for camera mount, Screws for camera
mount (M2x5 4pieces) and .screws for attachment mount (M3x4 4 pieces)

B General Specifications

Item_~Model FZ-LTA100 FZ-LTA200

18W maximum(12 VDC, 1.5A maximum)

Power consumption ) .
P (including strobe controller and camera)

10 to 150 Hz, half-amplitude:0.35 mm(maximum acceleration 50 m/s®)

Vibration resistance 10 times for 8 minutes each in directions

Shock resistance 150 m/s® 3 times each in 3 directions

Operating: 0 to 50°C(with no icing or condensation)

Ambient Temperature Storage : -25 to 60°C(with no icing or condensation)

Operation and storage: 35 to 85 %

Ambient humidity (with no condensation)

Ambient environment | No corrosive gases

Degree of protection | IEC60259 IP20

Case for strobe controller : PC/ABS

Material
Attachment for camera : Stainless steel : PC

Weight Approx. 80 g (including Cable)

B Performance specifications

FZ-LTA100

(1ch type)
FZ-S,FZ-SC,FZ-S2M,FZ-SC2M,
FZ-SP,FZ-SPC,FZ-SF,FZ-SFC
FZ-VS(2m/5m), FZ-VSL(2m/5m),
FZ-VSB(2m/5m) *1
(FZ3-(H)9[J[Series)
(FZ3-(H)3J/(H)7]JSeries)

DC +12 V £10%

FZ-LTA200

Item_~Model (2ch type)

Connectable camera

Connectable camera
cable

Controllable FZ3
software version

FZ3 Ver.3.10 or more
FZ3 Ver.2.00 or more *2

Power supply voltage (supply from Camera)

Output current 300 mA maximum

Number of channel

for illumination 1ch och

Number of trigger

for illumination
Auto-Light Control for
High-Shutter Speed

4 signals x 1ch(individual) | 4 signals x 2ch (individual)

Yes (Selectable) Default:OFF

ON period for

ilumination trigger Synchronous for Shutter timing of Camera (variable)

*1 It is impossible to use camera cable more than 10m.However, it is
possible to extend the length (max. 15m) by jointing cables (max. 3
pieces), when using Camera Cable Extension Unit (FZ-VSJ).

*2 In FZ3-(H)9** series Ver3.00, it is impoosibe to use this strobe
controller.Since Ver3.10, this strobe controller can be used as
FZ-LTA100 and FZ-LAT200. This strobe controller is recognized as
type FZ-SLC100 in FZ3-(H)3** / (H)7** series between Ver2.00 to
Ver2.12. And so, the image of LED’s allocation on the Menu is
displayed as FZ-SLC100’s one. Refer to the instruction sheet of
lllumination FZ-LT Series about the relation between lighting block
and selected part.

B When mounting camera on strobe controller

Attachment

Fz-S/SC
FZ-SP/SPC
FZ-SF/SFC

FzZ-S/SC
FZ-S2M/SC2M
FZ-SP/SPC
FZ-SF/SFC

Lighting joint channel 1
(Only FZ-LTA200)

Lighting joint channel O

(DDetach the attachment of Camera by loosening screws (4 pieces).

(DInstall the camera to the attachment by using the attached screws (M2x5,
4pieces).

(®lnstall the attachment to strobe controller by using the attached screws
(M3x4, 4 pieces).

(®Connect cable of strobe controller to the rear panel of camera.

Tighten all screws securely during installation. Do not use screws except attached ones.
Fastening torque

M2:0.15N m

M3:1.2N'm

B Dimensions

10.5Dia.

(UNIT:mm)

@ w
3V
4-M3 DEPTH3 max

HELOM

1/4-20 UNC DEPTH5 max

FERRITE CORE

4-M3 DEPTH3 max | |

==

4 Dia. BCORES(CONDUCTOR CROSS SECTIONAL AREA:0.05mm®
/INSULATION OUTSIDE DIAMETER:0.38 Dia.)

y

-Camera(Type FZ-S/SC)at installation

Fastening torque
M3:1.2N'm
1/4"-20UNC:2.6N
(115) CAMERA FZ-S/SC 28
LENS CENTER
A
= -
0
& 3
= 2 8 ™ o 00 0
o O N & 8
FERRITE CORE L (10) [

4 Dia. 6CORES(CONDUCTOR CROSS SECTIONAL AREA:0.05mm?
/INSULATION OUTSIDE DIAMETER:0.38 Dia.)

© ©
Q e

\4-M3 DEPTH3 max \ 1/4-20 UNC DEPTH5 max

MOUNTING HOLES

Suitability for Use

THE PRODUCTS CONTAINED IN THIS SHEET ARE NOT SAFETY RATED.
THEY ARE NOT DESIGNED OR RATED FOR ENSURING SAFETY OF
PERSONS, AND SHOULD NOT BE RELIED UPON AS A SAFETY
COMPONENT OR PROTECTIVE DEVICE FOR SUCH PURPOSES.
Please refer to separate catalogs for OMRON's safety rated products.

OMRON shall not be responsible for conformity with any standards, codes, or
regulations that apply to the combination of the products in the customer's
application or use of the product.

Take all necessary steps to determine the suitability of the product for the
systems, machines, and equipment with which it will be used.
Know and observe all prohibitions of use applicable to this product.

NEVER USE THE PRODUCTS FOR AN APPLICATION INVOLVING
SERIOUS RISK TO LIFE OR PROPERTY WITHOUT ENSURING THAT THE
SYSTEM AS A WHOLE HAS BEEN DESIGNED TO ADDRESS THE RISKS,
AND THAT THE OMRON PRODUCT IS PROPERLY RATED AND
INSTALLED FOR THE INTENDED USE WITHIN THE OVERALL
EQUIPMENT OR SYSTEM.

See also Product catalog for Warranty and Limitation of Liability.

Il EUROPE
OMRON EUROPE B.V. Sensor Business Unit
Carl-Benz Str.4, D-71154 Nufringen Germany
Phone:49-7032-811-0 Fax: 49-7032-811-199
Il NORTH AMERICA
OMRON ELECTRONICS LLC
One Commerce Drive Schaumburg,IL 60173-5302 U.S.A.
Phone:1-847-843-7900 Fax : 1-847-843-7787
Il ASIA-PACIFIC
OMRON ASIA PACIFIC PTE. LTD.
No. 438A Alexandra Road #05-05-08(Lobby 2),
Alexandra Technopark, Singapore 119967
Phone : 65-6835-3011 Fax :65-6835-2711
H CHINA
OMRON(CHINA) CO., LTD.
Room 2211, Bank of China Tower,
200 Yin Cheng Zhong Road,
PuDong New Area, Shanghai, 200120, China
Phone : 86-21-5037-2222 Fax :86-21-5037-2200

OMRON Corporation
D(® ocCT, 2009




